BI i n d J (o) i nt C om po ne nts Alterations necessary to use this component

MType Hole Alterations

Center Joint Kits # P690

lFeature: Requires only one screw for tightening. Work efficiency enhancing anti-rotation type is added.

i Center Joint Kits Components (1 pc. each) ex Example
-Pre-Assembly Insertion Type-mm Type Joint Guide Center Post Set Screw Center Joint Connection
- Type [@MMaterial Type [MMaterial Size [MMaterial
(Standard Direction) - (90-Degree R(:tated) HMJ Pre-Assemblynseron Sandard Direcion NO.5: Mdx8 Step Front View / Side View Standard Type With Rotation Stopper Description
[ [ | HMJR Standard SUS304 | Pre-Assembly Insertion 90-Degree Rotated |~ SCS13
| HAMJ Post-Assembly Insertion Standard Direction NO'GZMBXH SCM435 - ®-1 @ g .
- - NO.8: M6x16 (Surface Treatment: Black Oxide Film) ol ) Mount a center post to extrusion (A)
HzZJ With Rotation St SUS304 Pre-Assembly Insertion Standard Direction SCs13 0 X or \ & - .
“Hazg | With Rotation Stopper PustAssenbly oS Diectin NO.8-45: M&x20 — @-1 ’ (Post-Assembly Insertion Type can be inserted
1 - by turning from upside of the slot.).
oint-Guide (Standar re-Assembly Insertion Center Post Standard Direction Fﬁ ,/j
Joint-Guide (Standard) [lPre-Assembly Insertion Center Post Standard Direct . .
Extrusion (A) s — (®Center Post is for Standard Type and With
Extrusion (A) N Rotation Stopper Type.
Extrusion (A)
o

[ Center Joint Kits ) D , M E N j[ ()
-Post-Assembly Insertion Type- ___ .
. =
‘ o1 2
Pre-Assembly. Insertion Center Post 90-Degree Reversal Type

(P.664 Tightening direction is reversed 90-degree, as shown in the
D M o] example in the lower right-hand corner on.)

B

Extrusion (B) N Insert a joint guide in the extrusion (B) with M
Extrusion (8) Extrusion () type hole (P690) For standard type, adjust the
|| through hole to be upward.
/| )
I » u <,

T
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
1
'y |
|
|
:
|
| Move the extrusion (A) close to the extrusion
» |
| | ,
|
|
|
|
|
|
|
[
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
Il

[l Center JointKit
-With Rotation Stopper-

(= L|L |

.::I D)+l

G
\
|
\
|
[
E
\
1
1
o T
|

through hole of joint guide.
(®For center posts No.8-45, Extrusion Mating [lPost-Assembly Insertion Center Post

@ (B) while putting the center post through the

g )
Section (@12) is pr(f;m;i(: as below. , F’}\?{’?
or 8- I
~ 819, ! ﬂ X
- = ) HEIE‘
(Ref.) Corner section when using this joint
4 Tighten the set screw to the side of
Part Number Accessory 'al = joint guide.
Type No. Center Post Quantity| Joint Guide Quantity Set Screw |Quantity T
HMJ 5 Pre-Assembly Insertion Center Post 5 Joint Guide 5 M4x8 R
6 Pre-Assembly Insertion Center Post 6 Joint Guide 6 M6x12
nHZJ . 8 Pre-Assembly Insertion Center Post 8 Joint Guide 8 M6x16
ey T |"8-45 | Pre-Assembly Insertion Center Post 3-45 Joint Guide 8-45 M6x20 o .
HMJR 5 Pre-Assembly Insertion Center Post 5 Rotated| Joint Guide 5 M4x8
Pr y Insertion 6 |Pre-Assembly Insertion Center Post 6 Rotated| q Joint Guide 6 1 M6x12 q
Lock Nut 8 Pre-Assembly Insertion Center Post 8 Rotated Joint Guide 8 M6x16 L .
90-Degree Reversal Type| 8-45 [PreAssembly Inserion Center Post8-45 Rotaed Joint Guide 8-45 M6x20 When the set screw is tightened against a V
HAMJ 5 |Post-Assembly Insertion Center Post 5 Joint Guide 5 M4x8 5 groove on the center post, extrusion (A) and (B)
6 |Post-Assembly Insertion Center Post 6 Joint Guide 6 M6x12 @ are pulled and bound together.
HAZJ 5 [Post-Assembly Insertion Center Post8 Joint Guide 8 M6x16
Post-Assembly Insertion Type |5 45 |Post-Assembly Insertion Center Post 8-45 Joint Guide 8-45 M6x20 [} R
[llPre-Assembly Insertion Center Post (Standard Direction / 90-Degree Reversal)
Part Name D L E A B Genter Joint No. Applicable Extrusion No. [Exception] Extrusion Not Available - } ) -
Pre-Assembly Inserion Center Post5 o s lee o e SN 52000 52060 52080 [*1Curved HFSR5-2020 cannot be used, because Wirench - Product Number for the parts shown on the above example (Standard Type). - Connecting extrusions with 2 or more slots on one side . .
Pre-Assembly Insertion Center Post 5 Rotated . . 5 54040 54060 54080 Hole Machining is not allowed, Insert joint guide from the both sides of M type hole, and connect and tighten it
Pre-Assembly Insertion Center Post 6 HFS6-3030-1000-LMH with two or more center joints.
y ; 6.6 | 295 | 55 | 14 | 15 630301 6-3060 630902 6-30120*2 [*1Curved HFSR6-3030 cannot be used, because Wrench . . .
Pre-Assembly Insertion Center Post 6 Rotated | ~* ) ) : : : : Hole Machiing is notalowed ' Length - For extrusions with three slots, holes are not provided on the center slot
5 i X -50100¢ : " Optional i i i
l;:_ﬁssgzrmngg ::::g:g: g:::::: :g::gRotaied M 6 6-5050 6501002 *2Cannot be used i the longside diecton because E]r:eﬁlsosne%t;lz (Optional) (For extrusions with four rows of slots, all slots are drilled.).
Pre-Assembl Insertion Center Post 845 9.8 6 | 17 | 17 6-6060  6-6090 standard hole machining is not allowed.
P Assembly Insertion Center Post 8-45 Rotated 42 *1Curved HFSR8-4040 cannot be used, because Wrench Hole
L 8 [sdot  s080  sdot  gdoter |, MeChinngsnotaloed
lPost-Assembly Insertion Center Post *2Cannot be used in the long side direction because Hex Wrench
standard hole ining is not allowed.
Part Name D L E A | B *THFSLA-4545, HFSLF8-4545 HFSLTB-4545 and HFSL8-4530 camnot L=
Post-Assembly Insertion Center Post5| 4 [ 20.5 | 35 | 6 | 10 be el because thethickness of slot extrusion i diferent, “Curved P
Post-Assembly Insertion Center Post6| 6.6 | 30.4 | 6.4 8 15 8-45 |8-45451  8-459011  8-45180°2 HFSR8-4545 is not applicable since wrench holes cannot be added. =y
Post-Assembly Insertion Center Post 8 98 14 6.4 10 17 *2Cannot be used in the long side direction . .
Post-Assembly Insertion Center Post8-45 | "~ | 42.4 | — because standard hole machining is not allowed. HFS6-3030-1000 5'?'??&‘1 extrusions can be connected by using two Center
lJoint-Guide (Standard) Joint-Guide (with Rotation Stopper) Length (Optional) oIntKits.
Part Name D | L |L|E | M Part Name D | G W/ L Ll d | M - Pre-Assembly Insertion 90-Degree g (®)3-slotted extrusions are connected using two outside
Joint Guide 5 69 | 12 | 4 | 41 | 4 Joint Guide 5 6.9 | 55 | 58 |13.0| 4 | 13 | 41 | 4 Rotated Type slots only.
jg::: g::g: g 109 ;‘7’ 668 6 Joint Guide 6 109] 8 |78 [195] 6 [195] 68 HMJR
Joint Guide 8-45 12.8 31 75 | 99 Joint Guide 8 128! 9 | 98 |280| 75 | 28 | 99 Can reverse tightening direction byr

90 degrees. ;

Z Ordering | Part Number %

Example HMJ8

3-663 Pszsraxnoole WEBGSREKE@EMR!  » [SX3FA http://fa.misumi.jp/ E3-664





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (Japan Color 2001 Coated)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 2.40
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 2.40
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV <>
    /HUN <>
    /ITA <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /JPN <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 0
      /MarksWeight 0.283460
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /JapaneseWithCircle
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


